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IMPORTANT NOTES

UgAI qRehT H U9 1 i ¥ U8 38k Hord 31, TH, 3N, UAeh il Welt YR § o1 |
Please fill up the OMR Sheet of this Question-Answer Booklet properly before answering.
fe<t =reRtur/fe=<t Tag & uoa-ua ol Siget, 11 [t yoa-usAt a1 fe=<i a1eram st o s=w foan

T HeheT 21
Except Hindi Grammar/Hindi Essay question paper, all other question papers can be written either in Hindi

or English language.

sregfefan it 3mSR Fraifia vl =t dimr | o1ftrer &Y o wnfew) sHeRt Soeias s WX 3iek 1S
TN et ST & T TS o 3T gt T wrelt e W Tuen 7t

The candidates should not write the answer beyond the prescribed limit of word; failing which, marks will be
deducted. Candidates should write the answers within the given lines. Please do not write in the blank space.
U U T ST UIAIR gfkent ® Feifta e w E o uveeR gt (T wE & U 9fed )
& 3T Tordt 9T WX 3TghHIeh, 3TUAT ATH, 311 @hig TH, UaT AT 311 ohi3 Ugol™ Tug 3ifehd T il ST
YfehT & WY 37T hIE AR Gl il afsid &1 37 TRl o1 Seeia i UT MTdeeh &l g Aieq
firir for T TefEAT frem @ o

Please write answers only in the prescribed space of booklet. Do not make any mark of identity inside the
booklet (including rough paper page) like roll number, name, any other name, address or such other mark:
Do not enclose anything with the answer booklet. The candidature of candidates violating these instructions

would be cancelledwithout even giving them any other notices.

srvfei @ PRfE frar ST § FF TEER qRea ¥ vde U ¥ ad T At e ¥ Ay g
T T st TEe & aeY T TS 3N & WiieeR gRT Wi qgl S

Candidates are directed that they should not write (answer) outside the border line in every page. Answer

written outside the border line will not be checked by the Examiner.

afe fordt wom U forelt WehR AT wRIE WEUT A1 ALATeR WehT aht I1E T, A W9 o el qem Siish wurrt
¥ A fet =R 7= grm

If there is any sort of ambiguity/mistake either of printing or of factual nature then out of Hindi and English
version of the question, the Hindi version will be treated as standard.

el weH qfeent diosie weH T R

The Question-Answer Booklet is provided in a sealed to the candidate.

areeft YA YRRl & SUT HWel™ 3@ 3l WA, N, uaek WX Wt aifsa faewor e/t oo U @
HEYds W) A W@ o 98 . TH, 3R, UAeh el | he-We IYam fopel off Wbt | arfarea Tt
[l

Candidate should fill up all the desired details on this attached OMR Sheet of Question-Answer Booklet with
Blue/black ball point pen. Please ensure that this OMR Sheet is not torn or damaged.

TE 3. A, AR, Tk o WA 7 2, Torad swfaua gemmd gegfaa &) 9w o gfd ervaeft @ st €
This OMR Sheet consists of two parts in which some information is pre-printed; remaining details have to be
filled by the candidates.

Tfe woaT qient Hel O hel-Wel a1 3Mfga &, O dAchlcl digieh @& &9 ¥ o ¢ 9o 39 agedT o,
AT IHHT qrfa et W Frm

If the Question-Answer Booklet is torn or not printed properly, immediately bring it to notice of invigilator

and get changed the Question-Answer Booklet, otherwise the candidate will be liable for that.

Tt Hre : ereeff gR1 AfE ol WA 3R, Tk W Terd Gl ot e © A1 SH feRdlt wehR w1 erfd qgeE S
? @ SmEnT gR1 Syl wdien dq sreAfdar Fe wt SOl SR S fow sremeft e SReEd ml

Special Note: If there is any wrong information filled by the candidate then his/her candidature for the entire

examination shall be rejected by the commission, for which he/she will be held responsible.

SPECIAL INSTRUCTION

fa9y forder
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(A) WII-UF S WUSl ‘1’ agr ‘@' ¥ fauria 1 vl T ¥ 69 qe e € fwes sidvia shuen: sifa eee,
wgT TE & 390 3 - wed U8 U ¥ & swi wea ¥ ariafter fawen o T §) Ul weA &
U W Yulieh 3ifera T T 2

The question paper is divided into two Sections as ‘A’ and “B’. There are three main questions in each section-
which are very short type, short type and long type questions, where there are sub-questions in each question.

There is internal choice in long type questions. The maximum marks are printed in front of question.
UT-U5] WA ST hAicb—ddid
3dUs (31)
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SECTION-A/AAS - 3

YT : 1. 3W U W 15 SfqeTeiT SU-UvT ¥ Uedeh WY B SISyl Vg WHT 20 VT BN
Tt e st ¥ ueteh W 02 () 3Rl & R

Q:1. This question contains 15 very short answer type sub questions. Answer each question

ideally in 20 words. All questions are compulsory. Each question carries 02 (two)

marks. (2 x15=30)

e : (1.1) AU fauwem S fawaand s 272

What are the features of mitosis?

3T

U9 : (1.2) FAEH HIHST Hi HEAUUTCH UG THh! SIS i €YU § W Hifww)
Briefly explain the functioning of quantum computer and its features.

I

9T : (1.3) NS & FATHAR HHG YRR @t 91q T engett & - ey |
According to Ayurveda, write the names of seven basic metals of human body.

534 B

e : (1.4) Taftera wfaven ==m 227 gOeh W@ SeTevur i)

What is passive immunity? Give its main examples.

534 R




SECTION-A/AAS - 3

YT : 1. 3 U B 15 ATAeTgmia SU-UP 2| Uelch W9 B 3M1S9l IIeg AT 20 9Teg AT Wl
woa ifrard B Uik uee 02 (&) 3Rt W R

Q:1. This question contains 15 very short answer type sub questions. Answer each question
ideally in 20 words. All questions are compulsory. Each question carries 02 (two) marks.

(2 x 15 = 30)

U9 : (1.5) HifEaet WEtehiel <RI 87 THeh S99 hl €8T § T Hifew
What is Montreal Protocol? Briefly explain its objective.

I

U9 : (1.6) & - ufewedt A @ 27?
What are autoimmune diseases?

I

Uy : (1.7) Ifefeet Qiweasr o Ed 82 39 W o €72
What are utility software? What are their main functions?

3T

e : (1.8) WS HWulw @& §?
What is Shat Sampatti?

3T




SECTION-A/ZGS - 31

YT : 1, 39 UTH H 15 AfAeTeiT SU-UYT €1 Uk U9 2 NSyl ITeg WUT 20 I BN |eft
uya 3frared €1 wiek Uv 02 () 3denl & #)

Q:1. This question contains 15 very short answer type sub questions. Answer each question
ideally in 20 words. All questions are compulsory. Each question carries 02 (two) marks.

@ x 15 = 30)

U9 : (1.9) TS o4 82 WM IR U SHeRT 9T U@ i 272
What is albumin? What is its main function in human body?

3T

U9 : (1.10) STHIH T hTdchU T §?7 T oled, IHINM o hdi-aaT &F o1 AT ¥ Fui
EaiEiy

What is Namami Gange program? Briefly describe its goal, beginning and implementation

area.

S5 R

U9 ¢ (1.11) TEEfEdr IT o U@ faviaarst w1 €8T W qui Hil
Briefly describe the main features of Brihatsamhita Granth.

I

9T : (1.12) T 8000 Wt TIRT 2 ot & forw arffer 10% wrehgfeg =< <X WX AT st AT 1
TS a9l /et AT F g

A sum of ¥ 8000 is invested at 10% compound interest per annum for 2 years. Find the interest
and the total amount.

3T




SECTION-A /TS = 31

UIT : 1. TH UV § 15 AfGTImRIT 3U-UYT € Uik UYH R Y Ireg AT 20 Ireg BN |eft
W STfard €1 weiek uee 02 (1) 3Rt @ R

Q: 1. This question contains 15 very short answer type sub questions. Answer each question
ideally in 20 words. All questions are compulsory. Each question carries 02 (two) marks.

(2 x 15 = 30)
U9 : (1,13 ) YHAT HERR HI1 ¢ A9T IE Fel 3R F& = TR Sar g2

What is Punsavan Sanskar and when and why is it performed?

3T

U9 @ (1.14) TUCTEST T o HIXOT, TLIUT, YAIfAd T 91 U™ & utd ferfaq)

Write the causes, symptoms, affected organs and preventive measures of influenza disease.

I

w9 : (1.15) ®REH (FORTRAN) WINT RI1 37 36 faerd@ Ua Suam ot fagiwad d@aa o
FaTgul

What is FORTRAN language? Briefly explain the features of its development and use.

34T




SECTION-A/AS - 3

U9 : 2, T UYT W 10 YOI SU-UYH ¥ | Udeh U9 oh U &q TSV IIeg WM 60 1T BIMT|
At uv arfrard ¥ v wes 07 (W) 3R @ R

Q: 2. This question contains 10 short answer type sub-questions. Answer each question ideally
in 60 words. All questions are compulsory. Each question carries 07 (seven) marks.
(7 x10=70)

U9 : (2.1) HIEIgIEee HT &2 TH W il o1 ST § quiv shifem)

What is carbohydrate? Briefly describe its main functions.

3T

U9 : (2.2) HPHET U fhee YR S Bt 87 Uk Wk oht Tastuarsil @ Sergvun afeq
Wit e st
How many types of computer memory are there? Briefly explain each type with its

characteristics and examples.




SECTION-A /TS = 31

YT : 2, TH UPT | 10 YT SU-UIT B | Uedeh WY wh SOV &g IMIE¥l g WHT 60 IIeg M
[t e sfrard €1 uRw UvH 07 (W) iRl T R

This question contains 10 short answer type sub-questions. Answer each question ideally

in 60 words. All questions are compulsory. Each question carries 07 (seven) marks.

(7 x 10 = 70)

U ¢ (2.3) grEUtae Tafwan vomelt & vaw fagial @ @84w ¥ quiw wifs)

Briefly describe the main principles of homeopathic system of medicine.

I

U9 : (2.4) el @ Tafi=r yerrl &t aefiertoT st we fergl aF ot wiera o Scorg shifsm)

Classify different types of vaccines and briefly mention any two.

I

10



SECTION-A/RAS - 31

YT : 2, TA U ¥ 10 SO SU-UYA Bl Udeh WY o ST B TSI I WHT 60 YT B
|t we Srfard &1 Ul W9 07 (H|I) ekl @ B

This question contains 10 short answer type sub-questions. Answer each question ideally
in 60 words. All questions are compulsory. Each question carries 07 (seven) marks.

(7 x 10 = 70)
U9 : (2.5 ) SFUSEAd i ALUNUT T 87 THh! ST 3T IV Rl W wHitadl

What is the concept of Janpadodhwas? Explain its origin and purpose.

3T

WO : (2.6 ) TSHSTIUET Uiel i Y@ faviwarsil o1 Sooi SeTeur |igd it

Mention the main characteristics of monocotyledonous plants with examples.

3T

11



SECTION-A /TS = 31

YT : 2, 3H YA H 10 TIEAA SU-UYA &1 Uhk UYT o ST B SNEY g WHT 60 IIeg MM
Tt e a1t ¥ Uik W 07 (W) 3Rt w2

Q: 2. This question contains 10 short answer type sub-questions. Answer each question ideally

in 60 words. All questions are compulsory. Each question carries 07 (seven) marks.

(7 x 10 = 70)
U : (2.7 ) WigshrETeE TaE @@ 27 sHeht favioamd ue faenmaendt w1 G@iyw ol s

What is Microsoft Windows? Briefly describe its features and developer.

I

Uy : (2.8) Sufwel ¥ afvfa vl ¥ faammg W o o e €7 we St

What is the role of Vigyanmaya Kosha in the Panchkoshas described in the Upanishads?
Explain.

12



SECTION-A/ZGS - 31

YT : 2, TA U W 10 LT SU-UYH & | Uk UIT o SR 2 NSV 9T WHT 60 9T MM
At wv arfrard €1 uedes wes 07 (W) 3Rt @ R

Q:2. This question contains 10 short answer type sub-questions. Answer each question ideally
in 60 words. All questions are compulsory. Each question carries 07 (seven) marks.
(7 x10=70)

U9 : (2.9) HRIATSH STEATeRT 9T &7 39eh SUANT 3T Age ol T shita|
What are serology biomarkers? Explain their use and importance.

3T

WY : (2,10 ) T Feq i o o= 32 s U@ Sevdl TS @gdl i HerT # S st

What is National Mission on Sustainable Agriculture? Briefly explain its main aims and
objectives.

13



SECTION-A /TS = 31

UYT : 3 3@ UYT ¥ 05 e ST SU-UYA §1 Uk UYA h SR 2q ISV yeg WHT 200 IIeg
21 |eft wew stfrard € e uvH 10 (S9@) 3t & R

Q: 3. This question contains 05 long answer type sub-questions. Answer each question ideally
in 200 words. All questions are compulsory. Each question carries 10 (ten) marks.

(10 x 5 = 50)

e : (3.1) “Sifaek HiT F savTehdr, favivand, @rer qer Hansll @ g faverur wd gy
wWe o T ara ¥ T8 wi ugla form v g o faemm § weEe o Hendt 217

"While properly analysing the need, characteristics, advantages and limitations of
organic farming, explain how this method of farming can help in sustainable agricultural

development in India."

3TYAT/OR

Teh TRl oAl & ORI 3T WA TS ol 3 el Siret Udehl HSdh o+l o1 U
W HA GAFRA 132 91 HieT {1 Al o & Ol 3R T80 ufd HWier ®ihEX ¥ are
TS ST, A 91 TAT et el @A AT shitag)

A 3 meter wide paved road of equal width is built around a square garden. The total area
of the road is 132 square meters. If a fence is built around the garden at the rate of < 80 per

meter, then find the total cost of fencing,.

14




SECTION-A/ZGS - 31

YT : 3 3@ U W 05 e ST SU-UYA B Uedeh UIT o SUX ¥ NSyl yisg T 200 I
21 Teft wyw arfrard &1 U we 10 (W) 3Rl & R

Q: 3. This question contains 05 long answer type sub-questions. Answer each question ideally
in 200 words. All questions are compulsory. Each question carries 10 (ten) marks.

(10 x5 = 50)
Wg: (3.1) continued ( SR )

15



SECTION-A /TS = 31

YT : 3 THUYA ¥ 05 e ST SU-UYA &1 Uk U h ST 2 AT IIeg HWHT 200 Vg B
st uee erfamed 1 Uik U9 10 (W) 3Rt @ R

Q: 3. This question contains 05 long answer type sub-questions. Answer each question ideally
in 200 words. All questions are compulsory. Each question carries 10 (ten) marks.

(10 x 5 = 50)

U9 : (3.2) Wikfask fafewar & gorgd fagidal o auit &td gu e wifag fo og fefeaar
ugfa smgyfrer faferan faam @ form v fa= & qen s@ent T gieshivn ame @
@t form yenr ganfaa et 2

Explain the basic principles of naturopathy and explain how this method of treatment
is different from modern medical science and how its holistic approach affects human

health.

AYAT/OR

ONA W SU-TARSA whl @t IHERT, GIEAT TS Shidl ol (qae hileul e & 37k
gy faemm yqE Tl & ool |

Discuss the role, structure and functions of sub-health centers in India. Also mention the

major challenges facing them.

16



SECTION-A/ZGS - 31

U9 : 3 TH UYT U 05 i ST SU-UY &1 Uk UYH o SuY gq TSy e HET 200 I B
[eft womr Ifrard 1 Uk WvE 10 (S9) 3dehl o B

Q: 3. This question contains 05 long answer type sub-questions. Answer each question ideally
in 200 words. All questions are compulsory. Each question carries 10 (ten) marks.

(10 x 5 = 50)
Ug: (3.2) continued ( ST )

17



SECTION-A /TS = 31

UIT : 3 3@ U W 05 <t ST SU-UYH €| Uk YT o ST 2 I yIeg HHT 200 I
21 asht yya srframd B vl w10 (TW) A & R

Q: 3. This question contains 05 long answer type sub-questions. Answer each question ideally
in 200 words. All questions are compulsory. Each question carries 10 (ten) marks.

(10 x 5 = 50)

e : (3.3) o fafaear & uriferfaes, snfdes, aafer qur wiwnfae qewa @ faeemr =

Discuss the ecological, economic, scientific and cultural importance of biodiversity.

3YAT/OR

“Uma U 2SUTeh SALAT hi SAYIhT, UehlX, Taferes Waem ud gHen @rell sl quis
Fd T W W T I8 O, Safadr ud Smuriies ufaeed @t R Yo wvTe
AT 17

“Describe the need, types, legal provisions and benefits of trademark system in India and

explain how it strengthens innovation, entrepreneurship and business competition.”

18




SECTION-A/ZGS - 31

YT : 3 3@ U W 05 i ST SU-UYA ¥ | Uk U & ST B NSV I HHT 200 I
?1 weft ug srfrard &1 U uvH 10 (W) iRl 1 B

Q: 3. This question contains 05 long answer type sub-questions. Answer each question ideally
in 200 words. All questions are compulsory. Each question carries 10 (ten) marks.

(10 x 5 = 50)

Ug: (3.3) continued ( ST )

19



SECTION-A /TS = 31

UeT : 3 3@ U ¥ 05 ¥ S IU-UYA §1 Uk UYH & ST B ey g WHT 200 Ieg
?1 welt vy 3rfrard 1 uees w10 (TW) 3Rl T R

Q: 3. This question contains 05 long answer type sub-questions. Answer each question ideally
in 200 words. All questions are compulsory. Each question carries 10 (ten) marks.

(10 x 5 = 50)

U9T : (3.4) 9RA H F-TEE @t UIE UEHl T GiGW URTE <d g¢ 98 WE &HiT & T
TEel fhe UaR AmeRl 3 wdenfiEl I & fo smes o otfes SeRaErEt 3R
IRt sET

Give a brief introduction of the major initiatives of e-governance in India and explain
how these initiatives make governance more accountable and transparent for both citi-

zens and employees.

AYAT/OR

T ATl o AR WS Withiaeh Hee T Shilul |rer &b A HeT, 919 He,
MR T TS Gt T ol WTRAT qoT 37k oMl o6l AU it

Explain the scientific and cultural significance of yoga mudras. Also describe the process
of Gyan Mudra, Vayu Mudra; Akash Mudra and Prithvi Mudra and their benefits.

20



SECTION-A/ZGS - 31

YT : 3 3@ U W 05 < IO SU-UYT ¥ YD UYT  SUX 2 ISyl I WHT 200 I
?1 et ve srfrard §| Uk UvH 10 (W) iRt @1 R

Q: 3. This question contains 05 long answer type sub-questions. Answer each question ideally
in 200 words. All questions are compulsory. Each question carries 10 (ten) marks.

(10 x 5 = 50)

U9: (3.4) continued ( ST )

21
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SECTION-A /TS = 31

:3 TA ST W 05 < IWT 3U-UvA B Udeh WYA @ WX ¥q 3Nyl v W 200 I
&1 @t ye 3ifrard &1 U UvH 10 (TW) iRl T B

Q: 3. This question contains 05 long answer type sub-questions. Answer each question ideally
in 200 words. All questions are compulsory. Each question carries 10 (ten) marks.
(10 x 5 = 50)
Uy : (3.5) Tower A AT aRa ¥ Ues TR AT Wed S &1 3HH ST, U,
SUSR F AT GRT ISTT 7T kel st faaemT il
Sickle cell anemia is a serious public health challenge in India. Discuss its causes, effects,
treatment and steps taken by the government.
HAYAT/OR
e aRa Tae (umdioT) it favraarsi ud suafer @ favewor i
Analyze the features and achievements of Swachh Bharat Mission (Rural).
W ¢

22



SECTION-A/ZGS - 31

UIT : 3 TWUYT § 05 < ST SU-UY ) Uk YUY ST 2 Y I WAr 200 I R
[sft wee Stfard ) U U9 10 (T9) 3Rt @ B

Q: 3. This question contains 05 long answer type sub-questions. Answer each question ideally
in 200 words. All questions are compulsory. Each question carries 10 (ten) marks.

(10 x 5 = 50)
W9: (3.5) continued ( ST )

23
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